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2.0 1,414 | 1,418 | 1,421 | 1,425 | 1,428
2.1 1,449 | 1,453 | 1,456 | 1,459 | 1.463
2.2 1,483 | 1.487 | 1,490 | 1,493 | 1.497
2.3 1,517 1 1,520 | 1,523 | 1,526 | 1.530
2.4 1,549 | 1,552 | 1,556 | 1,559 | 1,562
20 4,472 4,483 | 4.494 | 4.506 | 4,517
21 4.583|4.593 |4.604 | 4.615 | 4.626
22 4.690| 4.701 | 4.712 | 4,722 | 4,733
23 4,796 4.806 | 4,817 | 4,827 | 4,837
24 4.89914.909 | 4,919 | 4,930 | 4.940
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a=3-V10,b=7-V5,c=3+V10,d=7+ V5
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47. V5x3+va=15, V3x Vb =6, V243 =cV3 & W, §2% a,b, ¢
9Ol F abe 9 7427
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V)2 + V/(x+y)2 —dxy — /(x—y)? + 4xy

® -xy (@)2x—xy
@ 2y - xy ® x-xy

® 2x+ xy

V(x+y)2—dxy = /x2 = 2xy+y?
= V(x-y)?
\/(x—y)2+4xy: \/)c2—|—2xy—|—y2
- JErypelne
(FA1) = oyl + be =yl = e+
=—Xxy+x-—-y+x+y
= 2x—xy
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da +4b =48 ©|E2 a4+ b =12

T a?2+b02=174

(a+ b)? - 2ab = a* + b*

74 = 144 — 2ab

ab = 35

(a=b)2 = (a+ b)? - dab = 144 — 140 = 4
a-b>0,a-b=2
a’=b?>=(a+b)(a-b)=12%x2=24(cm?)
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